
Quick crossword� no 13,348
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Across
  1	 Light white Rhine wine 

(13)
  8	Fork-tailed seabird (4)
  9	Pharmacist (8)
10	Agatha Christie 

detective (4,6)
12	 Pestilence (6)
14	Cut in two (6)
15	 Largest part (5,5)
19	Barchester Towers 

author (8)
20	Petty quarrel (4)
21	 Socially unacceptable 

(6,3,4)

Down
  2	 Not fit to eat (8)
  3	 Extra payment (5)
  4	Bureaucratic 

procedures (3,4)
  5	 Take power unlawfully 

(5)
  6	Entrance (7)
  7	 Bludgeon (4)
11	 Contemptuous (8)
13	 Italian astronomer and 

mathematician, d. 1642 
(7)

14	Entreat (7)
16	Egg-shaped (5)
17	 Angry — agitated (3,2)
18	Straight (4)

Solution no 13,347
M I S S I S S I P P I

H K P H S O B
A P E R I T I F S T E A
L N I U P R
F A C E D T R E F O I L
C O L E U E
E X C E E D O S P R E Y
N K T P R S
T R A W L E R A D I E U
U H E U R G
R O O T R A T T O R I A
Y O G N A O R
O P P O R T U N I T Y


